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1.2y Fill in the blanks:

Liina] = coST (+5)  Altana] = sec’ T 41 Aseca] = tanzsecw (+1) %[i(_z” =p'(x)q(z) + p(x)q (x) +v)
d _ : d — 2 d — "(z)g(z)—f(x)g' (z
?[co:x] = —T§111123(+A5) §[Cotz] = :CSC T (+1) g[csxcx] —x— COtﬂ?CSCI’(-H) %[f(:c)g(ac)] — £'( )9(9)2(;0)( )g'(z) (+1.5)
St =ra" hs Hna] = 2o e*] = e ¢ L [y ()] = L dodu

2.3 Find %[tan(E) — sin (2t))}
(sol) JREH =sec®(5—sin@) 15 - (—cos(2t)) 1) - 29

3.y xy = cot(zy). Find 2.
(sol) R =% (dv -y + 2 - dy) 1) = —escX(ay) ) (da -y +o-dy) ) , EESER

< (dz-y+x-dy)(1+csc?z)=0 11y, < (de-y+x-dy) =0 <+1>,:>dy:—g +1) o

dx T
4.5y Estimate v/24.21 = 1/(3.9)? + 32 by linearization of f(z) = V22 +9.

(sol) f'a) = $(a* +9)(22) = 75 oo, fl@) ~ f(4) + f(4) (@ —4) 0, F(39) = f(4) + F(4)(39 —
)y =5+3(3.9—-4) =492  (v24.21 ~ 4.92036584)

(Tidy up your work above. Anything written below does not count.)
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